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�����

&����'� 
'��	�(��  ��� ��� X (��)���	 ��� (�

�������	 ��		 ��� (����� �!����	�
*	
+(��, 
�( (��)���	 ��� Y (�

�����'� �!���������
*
�� �

�� �'����� (����-�*	
*
��
.	��	�
�� ������
 (���(������	�� (�
%��� (�

������� ��	/��0
1���� ��	���/���	 (�%�	2
	�� ���*�� 3�	!	�� X �		���� Y �'�������	���� +���� 	� ������� �'�����
��  �	(����, X �		����
Y � ����' ��'(�	���
 X : Ω → X � Y : Ω → Y �*����
��� +� �	 Ω � ��	/��0
1���� (���
�	�
 �	(���,�

�� ������ X �� Y ��
��4��
 	� �� 
�	%�4	 R +� ��	/� ���(��  �	(���,� Rd� {0, 1}d� [0, 1]d
���� ���� ������	���� (�����(	�	 ��/� ����	�� ����� '��� �	(���� 5��������'1�� ������

Y = {0, 1}�

X �'������	 Y 2� � g : X → Ȳ �������������	
������
�� 
'/��	�4� (�� ���'��
��
� �	 Ȳ �� �	��
��	 ��� �!������������*����
��� �'�������	���
�� 4
�/��� g(X)2� ������

����������� 
�����*�� ��
��4��
 Ȳ ⊇ Y � ��� �!����������� �/����� ��� 
�(
����0�
C : Y × Ȳ → [0,∞) �������	
�����
 +���� ������� ������������ �������������� ��������� ,
(�'�� ���� C(y, y′) � �!	����� �

��  � � ��	/%� y �'���  �	���� y′2'� �!���������*
�� 6	�
 � � (��)���	�� x ��	� �� Y = y� ����' � g �	��	 �%��� �!����������� �!	����� C(y, g(x))�
7�
�	 ������ �� � �!	����� � �!����������� �

�	 ����
�� ����
� ����

8� (�
%�
 y ∈ Y2'� C(y, y′) ��
���
� (�
%�
 y′ ∈ Ȳ \ {y}2'�� ���� 
�
���	�
 �!���2
�������� �����
 (�
%�� ���
��� ����' ������� ����������� �����	*
�� 9	��
��' �	 ���'�4�
��	�	
� y2�� 8� 
�( ��	�	�4� �	� (�
%����  ��� :(�

��'�; 
�(� 8� C ��	�(���	� �
�4��0�
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� �� ������	 ���� ������� �����
����� ������� ���
�������� ���
��

� Ȳ = Y ����� �
�� �����������
��  ��������!	 ���

�"����� ���
�������� ���
��

� Ȳ �
�� 
��� Y �� #��������  �����������
�
��
� ��������!�

$���� C(Y, g(X)) #��� (X, Y )����	 �
�
 �� �
������%���� �������� &�� g '������ 
 ����
��
��������	 
�

R(g)
def
= E [C(Y, g(X))]

��
����� �
������ �	���� ����� (��)�� 
��
� 
 �������������#���������� 
 ����
�����
	

������ R(g) 
 �������

� *�� ����������������	 ��� 
� ����� g�� 
����������� ���������

+�����

r(g, x)
def
= E [C(Y, g(X))|X = x]


 �
����� �
������ ��������	 
�
� g ����������� #��������� ����
�������� X = x �������

�� ������	�
� +���)� 
�	 ���� g(X) ������� ���
�)�� g(x)��� ���

,������ 
 ���'�� ����
������� ������ �� #��������� ����
������� ��-��"��'
 �������

E [r(g,X)] = R(g)  .�.!

��

r(g, x) = E [C(Y, g(x))|X = x] =

∫
Y
C(y, g(x)) dFY |x(y)  .��!


��� FY |x 
� Y #��������� ��������#�������� �
 X = x	 
������ � �
���	�
	� ��
����������
������� �� ��������� *� ����� ���
����� ����
�� /��  +�
���)��!0�����'�� ���������
� ���
��
#��	 �� 
 ����

�
�

� ���
�)�� �������� �������� ������� 

����/� #�������� �����������
 ����
����% ����������� ������� 1���
������������
 ������ 2� 
 ���������� �������� ��������� 
��

)�
�	 ���� �� Y ��������
 X ��������� �������� ����� *��3� ��������
��������3 Y #�������
�������	 �������  
�
� X ��������� �������� ������! ���������� 
� Y � �	�
	� ��
��������� ��
���������

������ �����	
 ���
������������� �� 
�����������
�

������� ���
�������� 
 �����
����

 �������#������� ���
����� 
 ��������34

�� �
	��� �� �������4 +����� C0(y, y
′) def

= I{y �=y′}  
��� IA 
� A ������� ���������#������
���	 
�
� IA = 1	 �
 A 
����������� �� IA = 0	 �
 ���!� *����

R(g) = E [C0(Y, g(X))] = E
[
I{Y �=g(X)}

]
= P [Y �= g(X)] ,

�
���� 
 ���
���� ��"���
� ����� g ��
������
� 
 �
������%�����

5�"����� ���
�������� Ȳ = Y = Rd��� ����� ��
���� ���
����� 
� Lp ��������  ���

'��������� 
 ‖ · ‖p ����
! p����� �
�����
	 
�
� Cp(y, y
′) def

=
∑d

s=1 |ys − y′s|p = ‖y − y′‖pp�
*����

R(g) = E [Cp(Y, g(X))] = E
[‖Y − g(X)‖pp

]
.

+����
��


 
 p = 1 �� 2 ����  ����� ‖ · ‖1 ������� ‖ · ‖�� �� �
�����)��!4



���� ���� ���	�
 ��
��� ��
 � �	���� �

�� ������ C1(y, y
′) = ‖y−y′‖ �� �������� �����	
� ���
� ��� Ȳ = R���R(g) = E [|Y − g(X)|]

�� �������� 	
���
����

�� ������ C2(y, y
′) = ‖y − y′‖22 � ��������� �����	
� ���
� ��� Ȳ = R��� R(g) =

E [(Y − g(X))2] � ��������� 	
���
����

������� ������� ��
����
������� �

� � ����� �	���� � 	� �� �
����� �	
 ����		�� !��
"�� ������	� Y � ��� #��"�� Ȳ = R � ����	� ������ g ∈ Ȳ 	��	� �����������$� � E [C(Y, g)]
������% �����	
��� ���� ������

E [C0(Y, g)] = P [Y �= g] ,

E [C1(Y, g)] = E [|Y − g|] ,
E [C2(Y, g)] = E

[
(Y − g)2

]
��.

P [Y �= g] �������������� ������� P [Y = g] ��&������������ $������� ��
��� g�� ��

argmax
y∈Y

P [Y = y]

������ �
��� ����	���� ���� Y '��� �����
 �
�	����� ( ���������	 ���� �����������

	� 
���
����� )����� "�� �

� E [|Y − g|]�� Y '��� �����
 �
�	����� ( �������� ���
���������$�� ���� ��
� g 	��	���� ��������� P [Y ≤ g] ≥ 1/2 	� P [Y ≥ g] ≥ 1/2� '*��
�"��
�+� �
���
�
� Y ��� �� P [Y ≤ g] = P [Y ≥ g] = 1/2��	�� ,����%�(

- �	
������ ���	���"� ��������������"�� ��
,� � ���������

�� ����� '.��������	���(� ������� ����� ������� Y ����� ������������� ��������� �� g ∈ R���

E
[
(Y − g)2

]
= E

[
(Y − E [Y ])2

]
+ (E [Y ]− g)2.

�����������

E
[
(Y − g)2

]
= E

[
((Y − E [Y ]) + (E [Y ]− g))2

]
=

= E
[
(Y − E [Y ])2

]
+ 2E [(Y − E [Y ])(E [Y ]− g)] + E

[
(E [Y ]− g)2

]
=

= E
[
(Y − E [Y ])2

]
+ (E [Y ]− g)2,

����� � ���	��� ��
"�� (E [Y ]− g)E [Y − E [Y ]] = 0�

/� ����������� - �	��� 'R2��� �
����
�% �����%$����( 0����� ����%
��$� ��� �

� �
� ����
�����������	
� ��
���	�� �
� ��������
�� ���
��� ���1� ��� ���� ���� � �����������	
� ��
�
���	�� � ����
���	��
��
� ������� ��������
� ���
��� ���1� ����� � ���� ����
����� �
�	� ���
��� ������
�� ���
���
���� �	
����� '��������
� ���
��� �	���(� 2���� ���������
� .��������	��� �������	��



� ����� ��

� �� ����� 	
���	��
����� ����

min
g∈R

E
[
(Y − g)2

]
= E

[
(Y − E [Y ])2

]
,

���� E [(Y − g)2]�� � g = E [Y ] ��������� 
���
���������
�������������� � 
���
������� ����	�	 ������ � 	
���	���	 

C0 :
��!�� (argmax
y∈Y

P [Y = y]),

C1 :
�����,

C2 :�����������	 "
���# (E [Y ]).

$���� ����!	� ���� �
�	�� g = g(X)�� �� X���� �%����� ��������!	� �		�� ���� 
��&����
����	 ���������� �������� ��' ������(�� ���� � 
���
������� ����	�	 �����(� �� Y ������� X
���������� �������� 
��!��� 
�������� ������� �����������	� ��'� � (�����)����	 � ������		��
������ 
���� �
������	�

�� Lp ���������� ���'!�� Cp 	
������%�������	 	
�
��� ����((� ������ 
�����%���� �
	
���	��� 

�� ������ Ȳ = Y = Rd ������ ���� (Cp(y, y
′)/d)1/p = ‖y−y′‖pd−1/p	 ���� E [Cp(Y, g(X))/d]1/p

�
�
�
� ����
�� p����� ����������� Ȳ = R���	 C
1/p
p (y, y′) �� E [Cp(Y, g(X))]1/p �
�
�
�

����
�� p�����

���
������� *��
��� 0 < p < q���

(
Cp(y, y

′)
d

)1/p

=

(
d∑

s=1

1

d
|ys − y′s|p

)1/p

=

⎛
⎝( d∑

s=1

1

d
|ys − y′s|p

)q/p
⎞
⎠

1/q

≤

≤
(

d∑
s=1

1

d
(|ys − y′s|p)q/p

)1/q

=

(
d∑

s=1

1

d
|ys − y′s|q

)1/q

=

(
Cq(y, y

′)
d

)1/q

,

���� �� �������������� � +�������������������� ��	��
����� ��� ���������� d ����	, ���
��������� ������ q/p > 1 �� )�� xq/p 	����- �%������� � (�����)��� �� (X, Y ) ��������
�����������		�� ���%�� �� '��� !����)�� �
�����	 � +�������������������� 	������� ��	���

���������

.�	���� �� y ∈ Rd ���������� ����	�� �'�/������� ���������	 �0����	������ 1����	��
���	��� ������� 	
������%������ ��������� �� 0�� �������
� ������ !� " ���
���# "����
������� ����$���� %������#�����# 2�� 3�4� �������5 

�� ���	
� $����� CKL(y, y
′) def

= DKL(y‖y′) =
∑d

s=1 ys ln
ys
y′s

�

1�
���� ���� � 6$ �������� ��
������ �� L1 �������� ��������� 2�� '� 477� $�
�

� �3�8��5 

�� ����� "9���	�����������������#� 2CKL(y, y
′) ≥ ‖y − y′‖2 = C2

1(y, y
′)�



���� ���� ���	�
 ��
��� ��
 � �	���� �

���� �����	
��
��

�������	
� �
� 
������ ����������� ��� �� 
�
�
�� ������ Y = Ȳ �� {y1, . . . , yk} ���
�
������� �����

�� ������	
� �� {Y = yi} 
�
����� i����� ����	
���
�� �
�
����� Y  � ������! 
�"

�������� � qi
def
= P [Y = yi] � ������ �������
��
���� �#� �� � ����
����� 
��������� ��

ηi(x)
def
= P [Y = yi|X = x] � ���	������ �������
��
��� �$	�� �
��

g"� ��
	
������

�
��� g(X)"� ��
	
�
�� �� �
�
����� �� yi �����
� g"�
� ���% �����
�
X 
�� ����#&�%	�� �$	��� ��
���
� Di = {x ∈ X : g(x) = yi} ���������� (i = 1, 2, . . . , k)
��
	
�� 	��	���
���
�� �
�
����� Di �
��� X ���� ��'������ ������������ ��
�� ���"
�
�� 
�
���
� �
�(��
���
��� yi"�
 $��� g�

�� �
�������� )
����
� �
�� ���� �$��� Ȳ = {y1, . . . , yk}"��� � (D1, . . . , Dk) $������
����������� �
�	
�
� �
����������� � g $�����*��������� ���� � $�����*�������� �
��$"
���	
� � $������ ����������� �
�$
�
�� k"������� ������� ���� I{g(x)=yj} = I{x∈Dj}�

)��� + �
�
�
��
 � C(yi, yj) = Cij ����$#���� +  ,�-! ��
���� � ������� ��&�����

r(g, x) =
k∑

i=1

C(yi, g(x))ηi(x) =
k∑

i=1

k∑
j=1

I{g(x)=yj}C(yi, yj)ηi(x) =

=
k∑

i=1

k∑
j=1

I{x∈Dj}Cijηi(x) =
k∑

j=1

I{x∈Dj}
k∑

i=1

Cijηi(x) =
k∑

j=1

I{x∈Dj}dj(x),  ,�.!

���� dj(x)
def
=
∑k

i=1 Cijηi(x)� �� ���
� � ������� *
����
�
� ������%�����
 �� X = x 
� �
���
��
��
��� � j"
$�� ����������
 $����

/�����%� ���� � *
��� r(g, x)"
� ����� g �����������	�� ��
�� x"
� ��  
����! �
����
��
dj(x)"�
� ������% Dj ����������� �����	�  �$� 0� ���
� �����!� 1� ���� �
����
�� dj(x)
���� ����� ���$
�� �
����
� �������	
�� �
��
� 
� ��� �
����
�� ��$
'2� /
��
�
� �
��� �
D∗

j ����������� �������� ���� ∀x ∈ D∗
j ����� �� &��� ������ �� dj(x) < di(x) ∀i < j"�


�� dj(x) ≤ di(x) ∀i > j"�
� ������ x �������� ����� 
�
�
 D∗
j "���� �� �� X = x 
�
���

� j"
$�� ����������
 ���% $�����  *
����
�
�! ������% �������
 ��  
����! �
����
��� �� ����
��������� ������% ������� 
�
��� � ���������
� ��$
'
� ����� j � �
����
���

�� �
�������� )
����
� �
�� ���� � *
��� D∗
j "� ��������� $���	
����� �� 
��%	
� X �

���� X ����#&�%	�� �$	��� ������� ����

x ∈ D∗
j ⇒ dj(x) = min

1≤i≤k
di(x).  ,�0!

�� ������	
� � *
��� (D∗
1, . . . , D

∗
k) ����������� ����� �
����������� g∗ $�����*��������

 ���� ����
 g∗(x) = yj ⇔ x ∈ D∗
j ! ��������
	
�
�� �
�
�����

�� ������ � ��������
	
� ∀x��� ��
���������� � ������� �������	�	 
� ��� ��	������! �

��
��"� 
�	
�� r(g∗, x) = min1≤i≤k di(x)!



� ����� ��

��������	
� ������� g �	
��
������
��� �
 ∀x ∈ X ���� ����� 
����
�

r(g, x) =
k∑

j=1

I{x∈Dj}dj(x) ≥
k∑

j=1

I{x∈Dj} min
1≤i≤k

di(x) = min
1≤i≤k

di(x)
k∑

j=1

I{x∈Dj} =

= min
1≤i≤k

di(x) = min
1≤i≤k

di(x)
k∑

j=1

I{x∈D∗
j } =

k∑
j=1

I{x∈D∗
j } min

1≤i≤k
di(x) =

=
k∑

j=1

I{x∈D∗
j }dj(x) = r(g∗, x),

���� �� ����
�  �� ����
�!
����� ���"��� ��#� �
��� ������� ��
�
���� � $���� r(g∗, x) ≤
r(g, x)� �
 %�� ����� ���&#�
 R(g∗) ≤ R(g)� ���� g∗ �&������
�

$���� � ����
��	
��
 ��&������
� ���'���
  �( �����

R∗ def
= R(g∗) = E

[
min
1≤i≤k

di(x)

]
. ���)�

*�� ���

�����	������ �
 
������ �
+��
���#� ��� � ,� &����'��� Cij = C0(i, j) = I{i �=j}  	��
��������
��� *  ��

dj(x) =
k∑

i=1

Cijηi(x) =
k∑

i=1

I{i �=j}ηi(x) =
k∑

i=1

ηi(x)− ηj(x) = 1− ηj(x).

-�� ��
� x ∈ D∗
j &�
��
�
 �  ��� �� ηj(x) > ηi(x) ∀i < j��� �
 ηj(x) ≥ ηi(x) ∀i > j����

�����
 �  �� ηj(x) = max1≤i≤k ηi(x)� $���� ��
� g∗ ��� � ��&�����
� ����
��#�� ������ �
�������
�%
.'' � ���/�����
 �
������'�
� ���� g∗��� � ��0�����
 � &�
������� ����
�%
.
��
�� ��� ���
�
���� ����������#� ���� *���� �  �� � ����
��	
��
� ������� � ��
�
�����

�����
�
� �
 
����� �
*''�
 �� �
��'�
 g �� ���
  �( ����� ����� 
����
�

r(g, x) =
k∑

j=1

I{x∈Dj}(1− ηj(x)) = 1−
k∑

j=1

I{x∈Dj}ηj(x),

��� g = g∗��� � ��
��� ���&#�
 %�� ���
���.
%����!1

r(g∗, x) = 1−
k∑

j=1

I{x∈D∗
j }ηj(x) = 1−

k∑
j=1

I{x∈D∗
j } max

1≤i≤k
ηi(x) = 1− max

1≤i≤k
ηi(x).

$���� � ���'���
  �( ���� ����� ���&#�
 �  �� R∗ = R(g∗) = 1 − E [max1≤i≤k ηi(x)]� ����
���

����	��� �
 
�����
 � 2,� ,��� ��#����3



���� ���� ���	�
 ��
��� ��
 � �	���� �

�� ������ ��������	
� �
 �	

 
�� ��������	 �
�� 
�
� Y ������	 �k = 2�� 


�� 
 
��
��
��

���	������ ��� �	 ���
��

�

r(g∗, x) = 1−max(η1(x), η2(x)) = min(η1(x), η2(x))

�	
R(g∗) = E [min(η1(X), η2(X))] = E [min(η1(X), 1− η1(X))] .

�
 X ��	�
��� �
�� 
�	��� � !�������	 �������� 


�� 
� ηi"
�� 
�!�#�����#$
 
� ���	�"
��	�
���%

&����� ��'	�(� X ��	�
��� �
�
� X )��	��)����
�� �
�)
��� �	 #��(�#�

pi(x) = P [X = x|Y = yi]


� X !��������	 	 ��!$�������� �
 Y = yi% *

�� 
 ������� �	������ ��'!���+�� x"�
�� 

!��������	 �
��	����	�� ��,�����#
 	������

ηi(x) = P [Y = yi|X = x] =
P [Y = yi, X = x]

P [X = x]
=

=
P [Y = yi]P [X = x|Y = yi]

P [X = x]
=

qipi(x)

P [X = x]
. �-%.�

/���� 
 )
0�)���	 
 ��	������� �
��	����	���� 1 �	 ��� 
 C0 2"- 
(��	�� �	���� 
 3
��	"
�(���	� 1 
� 
 ��������	 
�#
� 
)����
�� qipi(x) )
0�)���	%

4��
� 
 	�������	 �	������ �
 )����� qi ������' �	�$
	��
����� 1/k�� 
�
� Y �
 �������
���	���	
 ���������	� 


�� qipi(x) �	 pi(x) +��
�
��� i"�� )
0�)���	� ����� 
 3
��	"�(���	

�� 
 i"� ���
	��#
� 
)����
�� pi(x) )
0�)���	%

4)�
�� 
 qi �
��	����	���
 �	)��������
� 	�
	��� ����	 #��� 
����+��	� )��� ���������	

 ������ ���	���	� !����������� �	 ����� 
 !�����
 
�
�#�� 
��
 
 ��������	�� �(������ 
)����
��
pi(x))
0�)���	� 
�
� 
)����
�� !����������� 
 )��,�����	��
 
 ����
����� 
 �
��	����	���%
�5(������� �	���� 
 ���
	���	 )�	� �	 ���	�'����	 �����%�

�� �	
��
��� 5�	�
��� X �	���� g"� ������� ������	

� ��
���
�� ������$
� �
 g(x) = yj
�	���� pj(x) = maxi pi(x)%

6� ����������� 7�����#$
 )��� ���� ��� 
 )
0�)
�����
��� !��������	 �
��	����	����� 
�

��+)���+) �	 
 !������� ����� !�� �
� �	������ 
 )
0�)+) 
 ��	������� �(���	��� 
���	�8

&����� )�	� X ⊆ R� X 
�	��� � !�������	 f(x) 	���	��!$���������� �	 #��(�#�

fi(x) = f(x|Y = yi)


� X !��������	 	���	��!$�������� �
 Y = yi% *

�� ηi ������ ��,�����#
 ������

��
�
������+��
��� �� �
�������
 	��)���		
� )���������
��� ���� f(x) �= 0 �	���� 
 ��	�
���
�	����� �	 
� �-%.� ������'	����� !��)
��
� 
�
��� )����

ηi(x) =
qifi(x)

f(x)
�-%��


����
% *

�� ����� 
 3
��	"�(���	 )��
���	�	� 1 2"- 
(��	�� �	���� 1 qifi(x) )
0�)
��"
����	��� 
 )
0�)+) ��
������� �(���	� ����� fi(x) )
0�)
������	�� #�������



� ����� ��

�� ������	
� �������	 
���	���� X 
�
	�� g�	 ������� ������	

� ��
���
�� �
�
�����
�� g(x) = yj 
�
	�� fj(x) = maxi fi(x)�

�� ����������� �� ����� 
��
������ 

��������	 ��� ��	!����	" � 
�� �#
$����� 
�
		
�% &'�
�

�(	��� ηi(x)��
� �� {X = x} 

�	�	
�	 � Sε(x)
def
= {x− ε < X < x + ε} 
�
)���
��
�� ����

ε > 0 
��!
 ���
��� )�"* ηi(x)�	 � ηεi (x)
def
= P [Y = yi|Sε(x)] 
�������
��
�� +���!� ��

f1�� � � �fk� �� �'�
	�
�����##
� f(x) 
���	���� 
�������
�� ����! f(x) > 0 )��		 
��� ��$��
ε�!� P [Sε(x)] > 0� �� (��

ηεi (x) =
P [Y = yi, Sε(x)]

P [Sε(x)]
=

P [Y = yi]P [Sε(x)|Y = yi]

P [Sε(x)]
=

qi
∫ x+ε

x−ε fi(z) dz∫ x+ε

x−ε f(z) dz
=

=
qi

1
2ε

∫ x+ε

x−ε fi(z) dz
1
2ε

∫ x+ε

x−ε f(z) dz
ε→0−→ qifi(x)

f(x)
,

���� � ���)���,��� �� � �
�
���
� �� �� ��	
�!�����)(	�� 
���	���� 
�������
�!
 ����	���,
�'��#�!	��	�	
��	 �����)��	 �� -
��	 �� � #��	
!��!� ���,��(�.���
� ε → 0 ��	�!�!	���
�
���,��� � qifi(x)/f(x) �!	��
� �
���
��

�� �
���� +)���
�
	 ������� ����!�� ���))
	!�� � $��	�!�� �/01� ��)
�
	��
� )�2�) )
���
�����* *
�,*������ -
���	��� � �'�
	�
�� ���	 �$�,	% +�� 
)���
�
	 �������� ��"��
����!�� ���))
	!�� � $��	�!��� 
�� Y = (Y1, . . . , Yn) �,*��,	 	�����(	 ��� Y �
�	�!
���,��(�.���� ���	��,� �)
�� �� n ����������� ����!�� �#�� {0, 1} �!	��.� ��!���	����� 
��
!'��(	
		 Y ⊆ {0, 1}n !������)���� ��,*�'���� �
��� 

� �� �!	���	� � ����!�� ���))
	!�� �
$��	�!�� )��*
� ��	
	 p ∈ (0, 1) 
�����
� )
����	��	�	� 1−p 
�����
� ���	���	��� � ����� ��

)���
�
	 ���������� ��	 "
�
�	�� ���� � ���'��'�� ��	
�!
 
�
� �� 
�
)���
� 
���
	�
�
��
3�� � $��	�!�� ��)
�
	
 �� 
�� n ���������� X = (X1, ..., Xn) ∈ X = {0, 1}n ��	��!���	
�
�� �
�	�! ���,��(�.���� ���	��,� �)
�� ������� �
) 

�	�	�
��� �,*��,�� � ��"�� X�
	
)
�4��
��
 ���! �� *'�	��	 ������ ���� )� �
�
	
		 � �,*��, ���� ���� � �'�	������ 1
�� ����� ��� 0 
�������	 ��*� 5� #��*��� 6���
�"�� )
�� ���� )(� � $��	�!�� �
)
�
	

Y �� ��)
�
	
 X� �**�� � *'�	�� �� *
�,*��,� �
)
�
	
 X �� ��)
�
	
 Y��!� ����	���,
*'�	����

7
�'�"�� �� i�
*�� �
�
	���
� �,*��,	 yi = (yi1, yi2, . . . , yin)��
�� 
�� �
�
	���
� $��	�!��
��)
�
	
	 x = (x1, x2, . . . , xn)��
�� ������ �� i�
*�� �,*��, j�
*�� ��	"
 yij� � ��)
�
	� xj�
8� Y = yi� ����! �� X = x 

�	�	
�
� ���,��(�.���
 � �'�
	�
��

P [X = x|Y = yi] = P [X1 = x1, X2 = x2, . . . , Xn = xn|Y1 = yi1, . . . , Yn = yin] =

= P [X1 = x1|Y1 = yi1]P [X2 = x2|Y2 = yi2] . . .P [Xn = xn|Yn = yin] ,

���� ��  	���, 
��
������ �� 
)���
�
	 ���������� *
4�($�,"�� 9��
� �� �	)
�
	���,��(�.���
p�

P [Xt = xt|Yt = yit] =

{
p, �� xt �= yit,

1− p, �� xt = yit
= pI{xt �=yit}(1− p)1−I{xt �=yit} .



���� ���� ���	�
 ��
��� ��
 � �	���� �

��� ����	

P [X = x|Y = yi] =
n∏

t=1

[
pI{xt �=yit}(1− p)1−I{xt �=yit}

]
= p

∑n
t=1 I{xt �=yit}(1− p)n−

∑n
t=1 I{xt �=yit} =

= (1− p)n
(

p

1− p

)∑n
t=1 I{xt �=yit}

. 
��
�

�� �� Y � ������ ��������� 	�� ������� ����� � ��������	��� �� ���������	� ����� �
������!��� ��	���� ���	"�	 !���	��!�� 	� X ��������"�	 �� Y �#���#�� $��# ��$��������
���!��� %���� ��� � yi ∈ Y �#���#� $������& �� ����� ������� pi(x) = P [X = x|Y = yi]
� ���	����""� '����$�� !��� 0 < p < 1/2� ���� p/(1 − p) < 1� 
��
� ����&�	 �� �� � yi�
�������

∑n
t=1 I{xt �=yit} � �������""� (��)����!��&*�� !���

∑n
t=1 I{xt �=yit} ����	 ���	 "����

������ �������"�	 x �� yi �*��	"����� %�� x �� yi ������� ��	
�������
 �� 	�$�����
%��� �����	� "�	���� ���������� � +�����	� �����	 � ����� � ������!��� ��	������ $��#
���#����� � ����	���	 ���&���	, �������!�� �����	� ��$�����"�	 ���������""� �#���#�
	�� 
�#����$�� ������	��� � $���������� &���	��� 
-�����������	 ����	����� "���	��� 
Y�
�������� �����	 � ����� � ������!��� ��	��� ���� �� ����	 � ����� � � ���������� ��	���
������

�� ������	�
� �� (� ���� � ����� � ������!��� ���#����� p > 1/2 �����	. (� ������� �
����������.
"� (� ���� � ����� � ������!��� ���#����� p = 1/2 �����	. (� ������� � ����������.

���� �����	
��
�� ����
��
 ���������� �������

%�,/��� �� !��� �������	 X ���)������ !������ n ����0 ���)������� X = (X1, . . . , Xn) ∈
X n� �� � ��	��������*	��� ���� ������� �� {Y = yi} /������� ������� /����������	 /*������	��
�� ���	�� 
pi(x)� ��������0��� -���*� /�� �� �������1��� ���$����� !��� Xt ��������� k = 2

Y = Ȳ = {y1, y2}� �� C11 = C22 = 0 
��	� ��� � 2�� 3� �� 4� ������"��� �� "������

���� ���������� � ��&��	���0 �������/*��$�	�	���� 5�&�!��,� !��� !� �� X�",� ���������	
��!�� ��$��������	� Y ���� ���� �� Xt�� 	�� /*������	�� �� Y ��#�� ����� �� (X, Y )�!��
������# ��������+����� �����,������	 ��+��$� $����� ���	� n→∞� 6��#"�	� �� ���""� �����
�����	� � ��������+����� ����	�	+������	 ���� 0�!���

�� 
�
�	� ������ g∗n �� (X, Y ) ������� ��
������
� ����
�� ������������� �� q1q2 = 0�
	��� �� q1q2 �= 0 �� ������
 x ∈ X � �
�� p1(x) �= p2(x)� �


�

lim
n→∞

R(g∗n) = 0,

�� � 

�	�������� ���
����������� ��
���

4� ��� ������� 7 ����� /�������� ��	����	 ����� ��� /�		� !� q1q2 = 0� $��� !� q1q2 �= 0 ��
Xt �� Y 	�� /*������	 
����

∑
i∈{1,2},x∈X qipi(x) log

pi(x)
P[X=x]

���+��	�� �	/����+�#& � 	��
0�� 7� �� ���!��#� !��� !� q1q2C12C21 �= 0 �� X �� Y /*������	� ����� 	�� ���!�� 	�
�����,������	 ��+�� ��������+������� n 	�$�������$���



�� ����� ��

��������	
� �� ��� ��	���
��� 
�

��� ���� � �������������
 ����� ������


R(g∗n) = E [min(d1(X), d2(X))] =
∑
x∈Xn

min

(
2∑

i=1

Ci1ηi(x),
2∑

i=1

Ci2ηi(x)

)
P [X = x] =

=
∑
x∈Xn

min(C21η2(x), C12η1(x))P [X = x] .

 � q1q2 = 0� ����� ∀x ∈ X n��� η1(x) !��� η2(x) �� 0� "�� � #���#�# $� R(g∗n) �� 0�  �
q1q2 �= 0� ����� ����
��

��"
!� ���%��


R(g∗n) =
∑
x∈Xn

min

(
C21

q2p2(x)

P [X = x]
, C12

q1p1(x)

P [X = x]

)
P [X = x] =

=
∑
x∈Xn

min(C21q2p2(x), C12q1p1(x)) ≤ ���&�

≤
∑
x∈Xn

√
C21q2p2(x)C12q1p1(x),

���
 � 
���
'��� 
$($��$
 ��
 ������

��� ���� ∀a1�a2 ≥ 0��� min(a1, a2) ≤ √a1a2�
x = (x1, . . . , xn) ∈ X n��� � pi(x) = P [X = x|Y = yi] ��

$
�
�� !�
'��"�)�$��� �� Xt��

��

$
�
�� �*���

���$�� �
�(	�� � �+!�
���,�$((�� ��	����
,�� ��-

pi(x) = P [X1 = x1, . . . , Xn = xn|Y = yi] =
n∏

t=1

P [Xt = xt|Y = yi] =
n∏

t=1

pi(xt).

.�
 ���&���� ��
��

��"
!�

R(g∗n) ≤
√

C12C21q1q2
∑

(x1,...,xn)∈Xn

√√√√ n∏
t=1

p1(xt)
n∏

t=1

p2(xt)

=
√
C12C21q1q2

∑
(x1,...,xn)∈Xn

n∏
t=1

√
p1(xt)p2(xt)

=
√
C12C21q1q2

(∑
x∈X

√
p1(x)p2(x)

)n

.

� ���#
���� $� #$�
�����+�$( �+�+

� +�����*��$� �
�(	��

∑
x∈X

√
p1(x)p2(x) ≤

∑
x∈X

p1(x) + p2(x)

2
=

1

2

∑
x∈X

p1(x) +
1

2

∑
x∈X

p2(x) = 1,

���
 �����
,�$� ������ $�� ���� ����� �

 ����� �� ∀x ∈ X ��� p1(x) = p2(x)� /���
 ��
∃x ∈ X � ���� p1(x) �= p2(x)� ����� 0 ≤

∑
x∈X

√
p1(x)p2(x) < 1� "�� R(g∗n) �0(�������
����

0���� 
��
�



���� ���� ���	�
 ��
��� ��
 � �	���� ��

���� �����	
��
�� ������
���

� di(x) ������	 
���
���
 ����� �� ηi(x) � ��
������� ���	
����
���
� �����
 ����
�� ���
������� �
���������
� ��
���
 �
 ��� ����� 
���!�"�	�# �������� ������� � di�
�� ���
�!$%!
 ��"
 ��� �������� d̃i & �������

��� �� ���'���� ���%�
��( )���
�$����
 �����%���
� {d̃i}1≤i≤k & �������
��� �
 ��������$����� �
 ����	� �	$�� ����� g̃ $����
�# �����
x �
���� �� �����
� ���
�
��� d̃j(x)���� ������	 yj��� $���# ���� g̃(x) = yj ⇒ d̃j(x) =
min1≤i≤k d̃i(x)� ����� ��������
 �
���� ���������� ��� 
������ ����
��!�
 ���� ���������

�
 
�� �# ��� �
��� � ���
�
��� ��$�*���� g̃ ����� +�� ��
����!� � d̃i�
���# ����� g∗ �
di�
���� ,�%�� �� � d̃i�
 %	 ��"
��
�
# �

�� g̃ ���
���
-�������
� 
�"
����� 
���� ��
� g∗

���
���
-�������
� 
�"
��������. �/�
��� �����
����
�� ��� ����� �� '� ����� ����%���� �

����
��( ����� ���� �$ ������� ����
�� �!�����# ���� � 
�	���&���	 
�"
�����
 
 ����
���

����������	 � d̃i�
 ��"
��
� ����%����0

�� ������ i = 1�� � � �k��� ���	�
 d̃i : X → [0,∞) � di ���
��
� �
 g̃ ��	 � {d̃i}1≤i≤k�����
��
���� ��
��
������
	� �����

r(g̃, x)− r(g∗, x) ≤ I{g̃(x) �=g∗(x)}
k∑

i=1

|d̃i(x)− di(x)|

�


R(g̃)−R(g∗) ≤ E

[
I{g̃(X) �=g∗(X)}

k∑
i=1

|d̃i(X)− di(X)|
]
≤ E

[
k∑

i=1

|d̃i(X)− di(X)|
]
.

����
	���
� �� ���
������ %�����
 
�$����� �� ��������

�� ���
������
� ���
 � &�������% 
#
���� yj = j� 1

�� ���2� 
������ � ��
���
 
�"
����� ��� �
 �����	

r(g, x) =
k∑

j=1

I{g(x)=j}dj(x) = dg(x)(x).

����� g̃ �
 g∗ ��
���
 
�"
�������
 
 ����
���

r(g̃, x)− r(g∗, x) = dg̃(x)(x)− dg∗(x)(x).

3� g̃(x) = g∗(x)# �

�� r(g̃, x)− r(g∗, x) = 0� 3� g̃(x) �= g∗(x)# �

�� ��
����

dg̃(x)(x)− dg∗(x)(x) = dg̃(x)(x)− d̃g̃(x)(x) + d̃g̃(x)(x)− dg∗(x)(x)

≤ dg̃(x)(x)− d̃g̃(x)(x) + d̃g∗(x)(x)− dg∗(x)(x)(
���� g̃ $�4��"�	%� 
������ d̃g̃(x)(x) ≤ d̃g∗(x)(x)

)
≤ |dg̃(x)(x)− d̃g̃(x)(x)|+ |d̃g∗(x)(x)− dg∗(x)(x)|

≤
k∑

i=1

|d̃i(x)− di(x)|

����� g̃(x) �
 g∗(x) 
 ������( ������ {1, . . . , k}���
��



�� ����� ��

�������	
�
��

r(g̃, x)− r(g∗, x) ≤ I{g̃(x) �=g∗(x)}
k∑

i=1

|d̃i(x)− di(x)|,


��� x ��
���� X��� ���� �� �������������� ���� ������ �� ���
���� R(g̃) − R(g∗)���� ��
���
�� �	���
��
����	 �� � �
 � I{g̃(x) �=g∗(x)} ≤ 1�!�
�

"���#�  �
�� � �� ��
��!�
 Cij = I{i �=j} ���$ �
 � ������% �
 ��� & 
 �� 
����� & di(x) =

1−ηi(x) �� g∗(x) = yj ⇒ ηj(x) = max1≤i≤k ηi(x)� '�
������% ��	� ����� � d̃i !�$�
�� 1− η̃i
�
��!�� �

��� �
�% ���
 η̃i�� � ηi�� !�$�
��� � (����

g̃(x) = yj ⇒ η̃j(x) = max
1≤i≤k

η̃i(x), )���*+

�� � ,� ����
 �
����

r(g̃, x)− r(g∗, x) ≤ I{g̃(x) �=g∗(x)}
k∑

i=1

|η̃i(x)− ηi(x)|

��

R(g̃)−R(g∗) ≤ E

[
I{g̃(X) �=g∗(X)}

k∑
i=1

|η̃i(X)− ηi(X)|
]
≤ E

[
k∑

i=1

|η̃i(X)− ηi(X)|
]

)����+


���� -� k = 2% �� ��
�����#�% ��	� (η̃1(x), η̃2(x)) 
 ���� x ∈ X ��� �
���
��� �
���% ����
η̃2(x) = 1− η̃1(x)% ����� ���� ����!! �	�����.�/���� � �/�������������

r(g̃, x)− r(g∗, x) ≤ I{g̃(x) �=g∗(x)} (|η̃1(x)− η1(x)|+ |η̃2(x)− η2(x)|) =
= 2I{g̃(x) �=g∗(x)}|η̃1(x)− η1(x)|

��
R(g̃)−R(g∗) ≤ 2E

[
I{g̃(X) �=g∗(X)}|η̃1(X)− η1(X)|] ≤ 2E [|η̃1(X)− η1(X)|] .

�� ������ 0�	��� Cij = I{i �=j}% k = 2% y1 = 1 �� y2 = 0� 1������� 
�	% ��	� �����
η1(X) = E [Y |X]� 2���� �� ��� �	� �� !�$�
��#�� Y ��
����
�� ������������ �#		�������%
����� �� ����� )���*+ �
����� �����
� �/�����#		���� �/��
 ��� 
�
 ��

���� �����	
����
�

3��
!�� �� ��� 	 ��4&��5� ���������
% ���
 Y = Ȳ )������
�	��+ ��	�� ��

�� ��
� ��
�/!!�� �� � *�� �/
���	�� � ��	�
���% ���� Y ������� �
 ������� ������� �� � !� ������ ��

��
� �������% ��	� 
������ � � !���� ��	���	�% �� �
�!! ���������!�� Y �� Ȳ �
��
�!�� R
������

���% �/!!�� �� ��	��
��% ��� ��
������% �� C ��
�
 ��
� ����
��	�� 
�� � ��
�� ��
� ���	
�� ����
�������% ����� � � !���� ��	���	�  � ���
��� (���� g�� ���	��	

���������%
g(X)�� ���	��	���  � ������#�� � 6�������
���� ����!!��  � �� R(g) 	
�!�
 � ��$�������

 � 
�
 ��
� g : X → Y !�$�
���#		���� 
�	��
�
���� )7
� � 8� ��
��!�
 C2��� R(g)
����� � ��	������ �/���� !��+



���� ���� ���	�
 ��
��� ��
 � �	���� ��

�� ������	
� ����������	
���� �������� 	� 
��
���
� g∗ �������������������� 	�	� 	�
���

R∗ def
= R(g∗) = min

g
R(g).

������� 	 ��������� ��������� ���������

�� �
���� 
� ��� g∗ ����	
� 	���	�� �����������

r(g∗, x) = min
y∈Ȳ

E [C(Y, y)|X = x] , ∀x ∈ X ,

����� g∗ ����������	
��

����������� ������� g �����������������

R(g) = E [E [C(Y, g(X))|X]] ≥ E

[
min
y∈Ȳ

E [C(Y, y)|X]

]
= E [r(g∗, X)] = R(g∗),

��� g∗ 
��
���
� 

�� �
���� !	 Y 
���� ���
� ����� �� ���
��"�� 	 # ���$	���
 C0(y, y
′) = I{y �=y′} ����������

	��
� ��
���� �
��� 
� 
��	� g ���������������� %	������
� 	������� ������������� ���
����� Y&�	� '�� ���
� 	 �������
 ���	$	� ���
�	���� ���� 	 # ���$	���
 $�����
 ���	$	��	��
�� 	 �	���&�������� 	� � � ��"���� ����
��
 ������� � ���������� ����	
� ($�����) 	$"	� 	�	�
%	 g∗(x) = yj� 	��
� ηj(x) ≥ ηi(x) ∀i �= j&�� (�	��
� ηj(x) = max1≤i≤k ηi(x))� 	%
� 	�
ηi(x)&���� (� *) 
������ (� +)&��� ����
�%	�",� �
� %	 X $
������ 
������ 	���
�-� �
���
�
� 
.�%�� 	 �	/
���
� 	 �
����

�
 �������� 0 �� ��� 	 �	���&�������� 0 	� 	 %
�
���
� 	$"	�
	����
��� qipi(x) 
������ qifi(x) �	/
���
� 

���� �����	� 
���
�
��� ����
��

1
��� �
�� Y �
�
�,�	� ��� $
������� %	��� ���$�,� 	���
�-� �
���
�
�� �� ������� Y qi
	 ��

�
 �	�2����3����
 %������ ��	� 	 q(y) 	 ��

�
 �3�3������������ ��������%��� 4��
�
X ���������� (Y = yi �������
) pi(x) �-�����������
 
������ fi(x) �3�3������������
 %������
	

py(x) = P [X = x|Y = y]

���������� �-�����������
 
������

fy(x) = f(x|Y = y)

���������� �3�3������������
 ��������%����� 	������ 	� X ($
������ 
������ 	���
�-� �
���
&
�
�) ��
������� 	$"�� ��� Y = y ∈ Y �������� ������ 5��	� �
����
�	� ���
� 
� $�6�
��%	�2
����� 	� argmaxy∈Y q(y)py(x) 
������ argmaxy∈Y q(y)fy(x) �	/
�,� 	 �
����

�
 ��������
�� ��� 
�	��� ��������� ���� �
���
�
� Y &�	 ∀y ∈ Ȳ&�	 E [C0(Y, y)] = P [Y �= y] ≡ 1
1 �	�2����3������ 

7 ������� 	���	����� ����	
� 	�
��	� $�6�
��%	�2 (	 �	/
�,� �
���
%

$ $��������
	�	�2� �2$
�)�



�� ����� ��

�� ������	
� g�� �����	� 
���
�
��� ����
����� ��������� 
� pg(x)(x) = maxy∈Y py(x)
�

���� fg(x)(x) = maxy∈Y fy(x) �������� �

���� �����
�� ��
������ X �������

��� 
����� �� ���� �������
�� 
����
 �� 
�!��� �� X = (X1, . . . , Xn) ∈ Rn ������ ��
 �
��"�#��!� �$
��� � �
�
 �� Xt�� ��!!��
��� �������
�� Y �$�
�� �����#� σ �� �$��� ������
����$
�� %&�	��' �
���
$�� ��
 ��"�#��!� �$
��� �� (��$����	� ��! Y ���� �� X ��!)!���

���� �
�*����� �����	� 
���
�
��� ����
����+

X ��
����
�� �#�#��!��!!������ Y = y ������ ����� � �,���������� � ����$
�� �#�#��!�
��!!���� ����-

fy(x) =
1(√
2πσ

)n e− 1
2σ2

∑n
t=1(xt−y)2 ,

�
�
 x = (x1, . . . , xn)� � �����	� 
���
�
��� ����
�� �� �� y 
���� ���
��� fy(x)�����$
���
.� ��!�!����� ����
� ���
���

− ln fy(x) = n ln(
√
2πσ) +

1

2σ2

n∑
t=1

(xt − y)2,

���� 1
n

∑n
t=1(xt − y)2 �����$
��� /�!��� mn

def
= 1

n

∑n
t=1 xt� .���� � �� ����
� �
��
�����

�!� �� (x1, . . . , xn)��� �!���
���� 0 �� "!� mn �$�
�� �����# 0 ��
 ��"�#��!� �$
��� ��-

1

n

n∑
t=1

(xt − y)2 =
1

n

n∑
t=1

(xt −mn)
2 + (mn − y)2,

���
� ���
�$� y = mn��� �����$
��� 1!� � �$�
�� ����� �����	� 
���
�
��� ����
���
����$
�� X��� �**�� � ��!)!��
���� $�
�!��

��� 
����� � ����� 
����
 �� 
�!��� ���� �� X = (X1, ..., Xn) ∈ Rn� �
�
 �� Xi�� ��!!���

��� �������
�� Y �$�
�� �����#� Σ �� �$��� ������� �� �!���
���� �
���
$�� ��
 ��"�#��!�
�$
��� �� (��$����	� ��! �� (Y,Σ) *$���� �� X ��!)!��
���� �
�*����� �����	� 
����

�
��� ����
����+

Y = y� Σ = σ ������ ������ Xt �� [y−
√
3σ, y+

√
3σ] �������

	��� ��

 
�!� �!���
����


�!��� %� �� �$���!���� ����� 
��� = (2
√
3σ)2/12 = σ2'� "!� 0 ��������� δ

def
=
√
3σ�� 0

��
����
�� �#�#��!��!!������

gy,σ =
I[y−δ,y+δ]

2δ
.

2�
$� X ���������� ������	�
		���
� �� Y = y� Σ = σ � �
		�������	 ����� fy,σ(x) =∏n
t=1 gy,σ(xt)� �	
 �� �	
������ �� (y, σ) ����� ����� ��� ���������� ����
��

ln fy,σ(x) =
n∑

t=1

ln gy,σ(xt) =
n∑

t=1

ln
I{xt∈[y−δ,y+δ]}

2δ
=

n∑
t=1

ln I{xt∈[y−δ,y+δ]} − n ln(2δ) =

=

{ −n ln(2δ), �� ∀xt ∈ [y − δ, y + δ],
−∞, �	
������.

������



���� ���� ���	�
 ��
��� ��
 � �	���� ��

�� ����� 	�
�	�
��� �� 	����� xt ∈ [y − δ, y + δ] � 
����� 
�������� δ 	�

���� ��
[y − δ, y + δ] �������

�	��� ����� � 
�������� xt���
 � 
����������� ��

 ��������� ���� ��
(Y,Σ) 	�
�	�	 
���
����� ����
���

y =
X +X

2
�

���� σ =

X −X

2
√
3

,

���
 X = min1≤t≤n Xt �� X = max1≤t≤n Xt�

��� ������  ������!� � ��� "�
����
� ��
������� �� 
����� 	��� � σ ��#��� $ ����� �� ������
��

�	����� $ ��	���� %��������� 	�� �� Y ���� �� X 	��&���
���� �
�"����� 	�
�	�	

���
����� ����
����'

� ���	�
�� ��	 ��
������ 	��� �� � (���)*�� ��

 	�
�	�
���
��� �� ���� y����� 	+�
δ =

√
3σ ��	���� �,��+���� "���	����� (���)* ����� 	�
�	�
��� �� 	����� Xt ∈ [y−δ, y+δ]�

���� X − δ ≤ y ≤ X + δ� -����� �
��� y �� Y ��� 	�
�	�	 
���
����� ����
���� ��
	����.�� ���� � 	�
�	�	 
���
����� ����
�� ��	 	����� �������
	/�

�� ���������	� 0���!� ������ ���� � ��� �� � �)� "�
����
 �� � (X,X) "�� ��	����� �
�������
��
� � 	�
�	�	 
���
����� ����
�� 	����������������

���� �������	
���
����� ����	���� ��	���
�� �
�
���
	��

���

1����� Y ∈ R ����� ��#���2 ��
���#� �� ������
.�� � 3� "�
����
� C2(y, y
′) = (y−y′)2 �����

����� �,
������� ���� ������!� ��� � g∗ ����
��4!�������� �	�
��� R(g∗) = E [(g∗(X)− Y )2]
	���	�
��' �� 5� ����
 ������� ��

r(g∗, x) = min
y∈Ȳ

E
[
(Y − y)2|X = x

]
, ∀x ∈ X ,

����� g∗ 6���������
��� 7�&���
.�� � 
��
�		���	 
������� 4���
	��8

	� �
��
���� 9��������#� 4!��������� ������!� ��

m(x) = E [Y |X = x]

4!�������� �	�
� 	����� x��� Y ���� � 4�
����
�� ������#������� ��.� �� X = x�

�� ���
�� ��������	 ����	�� �	���� g∗(X) = m(X) 1 ����	����	������ �����	 � ����	����	��	
����� � 
��
�		���	 
�������� � � �� !"

���#����$	� 9,��+���� x��� �
��
	����� � �� ����
� �� Y |X = x 4�
����
�� �
���
����8 ����
	�
� g(x) ∈ R���

r(g, x) = E
[
(Y − g(x))2|X = x

]
=

= E
[
(Y − E [Y |X = x])2|X = x

]
+ (E [Y |X = x]− g(x))2 =

= E
[
(Y −m(x))2|X = x

]
+ (m(x)− g(x))2 = r(m, x) + (m(x)− g(x))2.



�� ����� ��

����� ��	
��� g ��
����	�

R(g) = E [r(g,X)] = E [r(m,X)] + E
[
(m(X)− g(X))2

]
= R(m) + E

[
(m(X)− g(X))2

]
,

�
� �������� ����	 
���
����� �� g(X) = m(X) 1 ����������������

�� ���������	� � �� ����� ���	��� �� Y  � ��������� �	����
��� ���	!"� �#�������� �� X ���
g(X) $%����������� ����	 �� E [(g(X)− Y )2] �#�������� 
���
������� g(x) ��
 
��� 
���
�� E [Y |X = x] $��������� ��	�����	���� ���� 
�"��� x ��
�	������ �� � ���!��� ��
�����

�� ������	�
� &��������"� ��� ���� �� (X, Y ) ∈ R2 ���%������ ��	
���� ��������' �� ( ��
������	���� ��)���	� ( 
��)����* ���	��� 1� ����	 � 	��	������� $%������

m(x) = E [Y |X = x] = E [Y ] + ρ(x− E [X]),

���� ρ = E [XY ]−E [X]E [Y ] �� X �� Y ��		���
��� ���%������!� +������ ����	���
��!�,�
-	����!"� 
�� �������������� ��� �����*����� ���	����	�� 
�!) �#��)�
������ X �����	
�������	��

������ �����	�
 ���

�


������	� �� ������ Y ∈ R ����� ���	��'� X = (X1, ..., Xd) ∈ Rd ��)�� �����	 �������������
�������� �� �������!"� � C2(y, y

′) = (y−y′)2 �#�������� � �� ����� ���	��� � &���� ��
����� �� 
�������� �� m(x) 	��	������� $%������ �)!�� � �� �����	������ �������"�� ���� �� (X, Y )
���%������ ��	
���� ��������' +�
� ����� ���
����� �"��!)������� 
���� �� ����� ���$�� 
������ 
�)���,� ����	 �� m(x) 	��	������� $%������ � x 
��.������ �����	�� $%��������
/���� �� ������� ����� ���� � &���� ��
����� x �����	�� $%�������� �#�#�� ��	����� � ����� 
	�� $%�������� ���� �#
#	�� ��	�������� �� �#����� ���	��������*��� &�	 � &���� ��
����
��������� +��
 ��"���, ������� ��
 
��)�� �����	�� $%������� � $������ ����!�� �	)�
��
����	 �� 
����������� ��� 
�����	������ ���� �� � ��
����$%������� 
��� x ��� � �����	��
$%�������� �#�#�� ��	���%�� ��	
��������� �

g(x) = c0 +
d∑

i=1

cixi c0, c1, . . . , cd ∈ R

�����	�� ��
����$%�������� �#�%� � ��������� ��
�����'� ���	������ 
���������� �� ������ 
	��� !��#��� ��)���	� ������%�� �� �� X +���� x, �����	 ��� �"���)�� X0 +���� x0, ���	)��� 
��!��� �
��� �������� ������* 1 ���� +X0 ≡ x0 ≡ 1,� �� ����������� ����� X�x ∈ Rd+1

0�� g(x) =
∑d

i=0 cixi� �� g �������� ��
������

R(g) = E [C2(Y, g(X))] = E

⎡
⎣(Y −

d∑
i=0

ciXi

)2
⎤
⎦ def

= R(c0, c1, . . . , cd).



���� ���� ���	�
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��� ��
 � �	���� ��

�������� 	�
�	 �
���	 � (c∗0, c
∗
1, . . . , c

∗
d) ����		
�	���	� ���������

ḡ(x) =
d∑

i=0

c∗ixi

� ��������� ����
�	�� ���	����	 ����� �
�
 ���������

R(c∗0, c
∗
1, . . . , c

∗
d) = min

(c0,c1,...,cd)∈Rd+1
R(c0, c1, . . . , cd),

�
�
 ��������
���� ������� R(c0, c1, . . . , cd)�	 � ci ����		
�	�� �
����	� � (c∗0, c
∗
1, . . . , c

∗
d)

�������
����� � R(c0, c1, . . . , cd)���� ������  ��	�
��� �
����	� !��"����� ���� ��	�� 0 ����
������� #� �� E [cZ] = cE [Z] ������� c ����	����� �� Z  ����
$�%����  ��	�
���� �  ��
��
	���	�� �������� �!���	��� ��� ���!��� ����	
�	�� 
��� � ���� ������� &��"�����
�	'� (��

∂

∂cj
R(c0, c1, . . . , cd) = E

⎡
⎣ ∂

∂cj

(
Y −

d∑
i=0

ciXi

)2
⎤
⎦ = E

[
2

(
Y −

d∑
i=0

ciXi

)
(−Xj)

]
=

= 2

(
d∑

i=0

ciE [XiXj]− E [XjY ]

)
def
= 2

(
d∑

i=0

cisij − bj

)
,

�
�� sij = E [XiXj]� bj = E [XjY ] )i�j = 0�1�� � � �d*� �� �	��
����!!��

d∑
i=0

c∗i sij = bj, j = 0, 1, . . . , d.

+������ �	 ��	��,�� ���������- ������

bT = (b0, b1, . . . , bd) )��� ��	��*,

c∗T = (c∗0, c
∗
1, . . . , c

∗
d) )��� ��	��*,

S = [sij] )(d+ 1)× (d+ 1)��� ��	��,*.

).� �
 X ��
��! ��	��	 ������ 	����
!����	��	 !���� XT � ����� S = E
[
XXT

]
������ ��

$�
�	��* /
����� � &��	� �������� �������	�����
�� �

c∗TS = bT

��	��,�������	���	 $�
�	� &��� .� 	�
�	 �
 S �� ��	��
�	�� ����� �
 �������	�����
�� ����
��	���% ���������

c∗T = bTS−1.

/
�� �
 ����		
�	�� ����� 	�
�	 �
 �!	������ �������� �������
����"����	 �
 {sij} �� {bj}
 ��
�	���	���� &��� ��������

�� ���������	� .� � ���0������ "��	���	� �
�
 E [Xi] = 0 )i = 1, . . . , d*� ����� S���� �

(X1, . . . , Xd)�
�
 	��	�
� &'������� �!!�� �  ��	����� � �� �����"����	��,�� )S !���� X
�� �����"����	��,� �

�� �
 ��	�������� 
��� s00 = 1� �$� � �� �����"����	��,��� �		 0 ����*
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 ���� S ������ ������� 
����������
 ���� ������ c ∈ Rd+1���

cTSc ≥ 0� ������


d∑
i,j=0

cisijcj =
d∑

i,j=0

ciE [XiXj] cj = E

[(
d∑

i=0

ciXi

)(
d∑

j=0

cjXj

)]
= E

⎡
⎣( d∑

i=0

ciXi

)2
⎤
⎦ ≥ 0.
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 ���� ��� ������� 
���������� ������ �����
�� ����� ������� ���!
 �� �������
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 ���� �� � "���� ����� #� ��
	�$�� �����$$������ #
	� �� ���� 
�����% > �  "���

������ c ∈ Rd+1 \{0}���� &'���( �������� ��
 ���� �� ����� ��� ���
 �� � (X1, . . . , Xd)
������ ��� ���)����� !��� Rd ����� �� d��	 ��
�$$ �������!
 � �� � � ���	�� 
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